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1. deliberative democracy
2. Self-determination

3. Judicial review

4. Confederation

5. Legitimacy
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4738 Supply-Side Economics? 473 Demand—Side Economics?iF b
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+545 3% 1030 & PRC 5 ROC 9 48 9L 8 34 11 3 s A28 & 7 (30%)
Model : (50%) | |

1. Y=C+I46

. C=atb(Y-T)=40+0.8 (Y-T)
. [=1o=80

. 6G=6Go=320

. T=Tot+tY¥=50+0. 25Y

. 'B=T-G

(—) ## 4 Aggregate demand curve:C+I4G $& Budget balance
' curve:B=T-G (5%)

N oW OO I

(=) MXFM$FAME equilibrium level of national income( 20%)

(2) £330 % %20 e) Budget position %4 7 Deficit or

Surplus % 7 (5%)

(m) day,= 1100 » BFBIEWG E D FHedRi Y, ehE AL 0 ARREH
Budget position & &/ % 7 (10%)

(E) BAAEers - 8 FHREEGT  HMERTIRENE
HBRABTAL—RZAT? (10%)
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(—)Let (X,Y¥) be a random vector with range S = {(0,1), (0,2), (1,0),

(LD, (2,0)} and density function f(x,y)=c(x+2y), (x.y)eSs.
(a) Whatis ¢ 7
(b) Whatis P(X >7Y) 7

(Z)Lef X be arandom variable with density function f(x) = 4x,

0<x<l. Find EX and EXZ.

{(=)Let X, X, be independent, with X, geometrically distributed
with parameter #. Thatis, X, has density f(x; 8)=6(01-6)",
x = 0., 0<@<l1. Find the maximum likelihood estimator (MLEs)

of & and (1-6)".

A (PY).Let X =(X,,X,,X;) have a ftrivariate normal distribution with

means 6, 4, and 2 and variances 16, 25, and 64, and with

cov(X,,X,)=6 and cov(X,,X;)=cov(X,,X,)=0. Let
Y, =2X, +3X,+X,+2 and ¥, =4X, + X, +2. What is the joint

density function of ¥, and ¥,.

(H)Suppose that X ~ N(u,0?) and that P(X <2)=0.4 and

P(X22)=03 . Find 4 and o
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0.03 02.04 0.5 8.06 a.a7 0.08 0.0
0.0 S000 5040 L5080 5120 5160 5199 5239 5279 5319 53359 -
0.1 ©,5398 5438 5478 5517 - 5557 5596 5636 5675 S714 5753
0.2 5793 5832 5871 5910 5948 5987 6026 6064 6103 G141 10
C 3 6179 6217 8255 16293 6331 6368 6406 6443 L6480 6517 -
0.4 6354 16591 G628 6564 6700 6736 6712 6808 6844 6879
0.5 6915 6950 6985 7019 7054 TORS 7123 7157 7190 7224
0.6 7257 J291 7324 7357 7389 7422 454 7486 7517 7549 N
0.7 1580 7611 7642 7673 7704 1134 7764 7794 7823 7852
08 7881 7910 7939 7067 7995 8023 B051 8078 . 8106 8133
0.9 8159 8186 . 8212 8238 8264 8289 8315 8340 8365 8389 T
10 8413 8438 8461 8485 8508 8531 8554 8577 8599 8621
11 8643 B663 8686 8708 8729 8749 8770 8790 8810 8830 N
1.2 8849 8869 .B838 BT 8925 .8944 .8962 8980 8997 015
13 9032 9049 9066 9082 9099 9115 9131 9147 9162 9177
1.4 9192 L9207 5222 0236 ..9251 9265 9279 9292 0306 9319 g
1.5 9332 9345 19357 G370 9382 9394 9406 9418 9429 9441
1.6 9452 4463 9474 9484 9495 9505 9515 9525 9535 8543 .
1.7 9554 9564 9573 9582 9591 9599 9608 9616 9625 9633 115
18 9641 9649 9656 9664 . 9671 9678 D686 9693 9599 97086
1.9 9713 . 9719 9726 9732 9738 9744 9750 9756 9761 9767
2.0 9772 9778 9783 9788 9793 0798 9803 9808 9812 JOB17 -
2.1 0821 9826 .9830 9834 9838 9842 9846 9850 9854 98357
22 98861 | 9864 9868 987 9875 9878 0881 9884 887 9890
23 9893 9895 0898 29901 9904 9906 9909 9911 9913 9916 -
2.4 9918 9920 9922 9925 5927 9929 9931 0932 9934 9936
25 0938 9940 9941 9943 9945 9946 9948 9049 9951 0952
2.6 9953 9955 99586 9957 9959 9960 9961 9962 9963 0064 -
2.7 9965 9966 9967 9968 9969 9970 9971 9972 5973 9974
28 9974 9975 9978 9977 9977 9978 9979 9979 9980 5981 N
2.9 9981 9982 .9982 9083 9984 9984 90985 9985 9986 088
3.0 9987 9987 9987 9988 9988 9989 9989 9989 9909 9950 .
31 9990 9991 9991 9991 9992 5992 9902 9992 9993 9983 - 20
3.2 9993 9993 9994 9994 9994 9994 9994 9995 .bogs .Hgos
33 0995 9995 9995 9995 .9996 9996 9996 9996 5996 - 5997
34 9997 9997 - 9907 9997 - 9997 9997 o097 9997 9997 9998 .
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L & B tTRE ? (T%)

2. M AEHE Mk T B 7 (8%)

= THEER? FEGNE QML ? AT ? (20%)

-~ REEBACHE 50 A RLRE MBA 242 AR EBEA - AKX
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1. IS0 9002 _
2. Management by Objectives (MBO)
_3.Pr0féssional Bureaucracy

4, ABC inventory control

5. brand perference

6. Cash-Flow Analysis

T.Marketing information System
8.LCA (Life Cycle Assessment)

9. Coporation Mergers

10. Costs and Benefits Analysis
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